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PART -III

serfQLITSliAui6s / COMPUTER SCIENCE

(Votatlonal Component under General Stream)
(s whmid ykifled auyd / Tamil & English Versions)

Cmirid : 3 wenfl ] ‘ [ Qorgg wHlGLGETSEeT : 150
Time Allowed : 3 Hours ] ‘ ' [Maximum Marks : 150
Silejewr ;- (1) oarsg derssEsn slwurs udeurd o darergr erarLgeman

Ins'trucf‘ions .
@i @)
(i)

(1)

(iv)

~ Note.: (i)

(@)

(i)
(iv)

sfluriggs Asrdrera b, wFsLILSela Gopulmuden, @{66)[])85
sataranilLurerilib o L anguirss Qsfleslsseio.

(2) ﬁ’,a)m coua)sugd a;gjul_l ewilenet WL HGW Gr@gsugg)@u uu.:emu@g,g,
Coua®Id. L mhider euafeugi@ Quendlér LG iGFse]b.

(1). Check the. gquestiori IE[ per fof fairness of printing. If there is any lack of

fairness, inform: the Hall Superv1sor 1mmed1ate1y
(2)  Use Black or Blite ink to write and pencil to draw diagrams..

UGS -1 - o.drer. amansg) (ueusumas aﬂmna;a;m) e G TS & (65 & (G LD
1 5 75 cuentf) safiGu QJQ[EJGSLJUL@GITHT OMR eflenLggmafle 1 HGL
e wilés Ceuatr@b . (OMR el gsrefléd o erar a@mmumu&
SIS )

- eflemmgger susugd LI&S (y)ema)u_‘ﬂa) g,lyuuL@mm ‘i)’ (dash) @@uﬁ@ Grg,g,

or it amfl & an &l & &mmGgrr <5HCHHU OMR eflanL gz refc) [me] - (1)
Siebevg) [t _ (2) e -] (3) DDF) 1@@@'@.(4) ETEILD
&L LIb 5@u|_| emmuﬁlemrra) .IﬂEQGﬂL_LILJL_ Gouamr(piLb. '

e eramaer 1 (pS@® 75 eueny 2 6rer @S]earrra;as@a;@j aﬁlem_u_laﬂa;a;
PEGSLILILL (3;5;&0 PBD 75 ﬁluS]L_rma;Grr G0

u@s II' wHmB LGS TI-& o drert aﬁlmrrasas@as@ (76 (y)g,a) 110 cueny).

Wsar@w et gsraidr el iuafés Cauamm@Ld.
Candidates shotild anéwet all the questions in PART - 1 (Ob]ectlve type) (1 to 75)

" in the separate- OMR: Atiswer Sheet supplied (Refer instructions glven int the

OMR Answer Sheet)

The number of the s1gn ‘i’ (dash) as found in the nght hand top corner of the
Question Paper ie. (1) or [ (2) or [we]wmwe] (3) Or [ w—
should be shaded in: the OMR Answer Sheet using Black ink. ,

Time allotted for answering question numbers 1 to 75 is first 75 minutes. .
PART-II and PART-III questions (76 to 110) should be answered- in the main
ariswer-book. :

[ Hpluys/Turmn over
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L@S - 1/ PART -1

Blaé& sflwnen el omws CobosHhSs QO . 7Sx1=75
Choose the most appropriate answer :

1. demeumb eThs eigaiFdled eravem é]a)guassma'rum Shlws @Ju}aﬁla) @Cgly ua;a;gﬁ@)
UTT&S (LPlgUjd? o o :
(A) Slide Sorter (B) Normal .(C) Notes ' (D) Outline

Which view allows to view miniature images of all the slides in the Presentation ?
(A) -Slide Sorter - (B) Normal (C) Notes (D) Outline

2. C++ Gb'ﬁ]mm@mmmrj)gd'r eThS WL&EG Hlevwels GerdlliL L &g ?

(A) do..while (B) while (C) continue (D) break
Which one of the following is called the entry-check loop in C++? v
(A) do..while (B) while (C) continue (D) Dbreak

3. GOLTT eollev enplLifled @@TQJ&;@ Cupul L euflengepus SIL_Leuananrud éd
Coiréds aThE SL_LenemeniiL] ummu@g,g) Geuanr(Hd ? |

(A) Table — Insert — Rows’ (B). Format — Insert — Rows
(C) Tools — Insert — Rows | (D) File - Rows — Insert
‘,‘.In StarOfﬁce Writer which command is used to msert more than one row in the table ?
(A) Table — Insert - Rows (B) Format —> Insert N Rows '
(C) Tools — Insert - Rows . (D) File - Rows — Insert

4. udCaumy @mr&&aﬂaﬂ@'ﬁ)g’ Qumrﬁu(&m'g,frmasmmg HriBeug Seupep
sawtl OQLirfludéd @&L&uugj lﬁlm Qécua)rra;@eugj gcipaﬁlu_l umﬂa;mm

2 ararL S&Hwg) : , S
(A) Osrene WHSSIEID B amewusiGemal ‘
(€) dBler-siysramento (D) &rey GroamairenLo

A category of IT enabled services pertaining to collection, dlgmzatlon and processmg
of data coming from various source is : :

(A) Tele - Medicine ' (B) Website Service

(C) e-Governance . . (D) Data Management
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C++ Gomfluliler GansEpelar L LGS aTbeé GhluLear pHn Cundng ?

(&) B) :: © 0O ()
In C++ the body of the class is terminated by :
(&) B © O D)

Breysser S Leumamuiar @m udmea salssaamulur® GHliug ?

(A) yew (B udy

(C) GCamiy - (D) @psenenLo ;ﬁmm(ﬁ&rrc’o

Which of the following is used to uniquely identify a record in a database table ?
(A) Field ~ (B) Record '

(C) File ) (D) Primary Key

BeupmieT ergl e pealed saTHidiysslulL Wer il euanaTé QEU.IGS]’?

(A) Cemlirev1-2-3 (B) &N&smsE
(C) erdeved (D) @uwuGrmreu
The First Electronic Spread Sheet :

(A) Lotus1-2-3 (B) VisiCalc

(©) Excel (D) Improve

- EONL eurig Senswimeri Cramaussns QgrenewCGudl g LitieLule emwbs
Caenoull LIfliTe] eWILD eTemig) ?

- (A) "{wm Gloaramenio (B) iempliysaed
(©) sreumssDd (D) e (pLIHMLD

- Which is a telephone based shared service center for a specific customer activities ?
(A) Data Management - . (B) Call Center
(C) Digitization A (D) Morphing

2 IS S5 T(PSSTES LTHNICISDE 2-Fabd FrelsF CaoreDd :

(A) Ctl+A (B) Ctl+B (© Cul+C (D) Ctrl+D
Which key is used to make the selected text bold in StarOffice Writer ?
(A) Cul+A- (B) Ctrl+B (C) Ctl+C (D) Ctrl+D

[ ,@@L'Juaa/Turn over
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10.

11.

12,

13.

14.

4

CH+ @ 6Thg Sigmidlwwert nweru®sS), iPledlssinl L o niliLsmer Db
BanE G (LpeYSGETGET STET AGIFE (Pl ULLD ?
(A) Private (B) Protected (C) Public (D) Static

In C++ which access specifier is used to access the members only from within the class ?

(A) Private (B) Protected (C)  Public : (D) Static

DT THS SLLEMET APOLD GOLTT BbooldV STa0s i L euaanrud e
ApHeuflansulien DiBEmS WLIHDH (Wigujbd ?

(A) Format — Width — Column (B) Format — Column — Height

(C) Format — Height » Column = (D) Format — Column — Width

Which command is used to change the column width of a Worksheet in StarOffice
Calc ? '

(A) Format — Width — Column (B) Format — Column — Height
(C) Format — Height — Column (D) Format — Column — Width

“Shockwave Ligalilb 6Thg edlflencud Csream(hererg ?

(A) .snd (B) .swf " (C) .snf (D) .swd
Which of the following is the extension of shockwave format ?
(A) .snd - (B) .swf | (C) .snf (D) .swd

C++ @ eps wHu@UYD HHLAueaiurg Qewphamm ererertleuemm
Sifels&sLILGEng ? y ,

(A) main (B) cout " (C) .cin (D) void

The functions that return no value in C++ is declared as :

(A) main (B) cout (C) «cin 7 (D) wvoid

wiryfwd Qubm Qans@sseian euflansuler Qussiiu®eig) :

(A) LOIHEITSESD | (B) < PHna

©) =&d ‘ . (D) Gewupsmm |
Which of the following is executed in the order of inherited class ?
(A) Polymorphism (B) Destructor

(C) Constructor (D) Function



15.

16.

17.

18.
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GIF-e eQfleurgad : O T R )

(A) Graphlc Information Format (B) Graphlc "Ir(terch;irrg'e Format

(O Graphlc Interchange Flle ' ‘. (D) Graphic Irlformaﬁon File

Expansmn of GIF: |
(A) Graphic Information Format ~  (B) Graphic Interchange Format
(C) Graphlc Interchange File (D) | Graphig: Irr‘f»QrmaﬁonIFZile; o

C++ & 2 pUil§F QFEUDSDISET ereeuTm). @lmg)ésasuu@a‘;]eiﬂmm ? .

W) s@duey (B uesepsdr

© afgopsda o (D) Qeupsd

In C++ Member fiinctions are r:alled; -

(A) Access specifier .. . . (B) Attributes L

(©) , Methods o opemtr
R T I I IRNE LTS |

GOLIF gy uled STOED G srirterflain auitEs (ipB@sE semsdQIs BT

C(4) SQUARE() (B ROOT() © SeI() (D) SQRO)

: Wluch function is used to fmd square root of a glven number

" (A) 'SQUARE() (B) ROOT() (C) SQRT() " (DY éQR( ).

) . e e
MRS ERTER TS AP TR S NAY § AL S

GI"EQ',BBL_I_GU)GTTGU)U_@ Gg,r'rm»?;dg-u'_.lg;r]' Bapsseama &&aﬂl_a)rrm ?
(A) File  Print " oL (B - Edives Print. o o il i
(C) Tools — Print o | (D) Format — Print v R
Which of the followmg cornmand is 1rsed to prmt the presentatlon ?

(A) File » Print .. (B Edlt - Prmt

(C) Tools — Print R (D) Format— Print

[ Q@DQ&;/Tum over
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19.

6

CH++ @ R EwPpESNEGEL LS Qurmener eupmiELb Qg,rr@aebr_jm'_um ;

(A) Qewpsam uellELy (B) Qrwn@H umﬂl.&@uu
©) <&d uaflbgy | (D) P9 Lanf) LIS'@LIL]
In C++ the mechanism of giving special meaning to an operator is called :
(A) Function Overloading - (B) Operator Overloading

20.

21.

22,

(©) Constructor Overloading (D) Destructor Overloading

C++ o Lﬁlsmu@u: TS SL L ener b Gugib Lol_a;ac,]masr L@ QeuelGuipé
Qe ? o

(A) for (B) switch . (©) struct (D) breakr

In C++ which statement would exit the current loop only ?

(A) for (B) switch (C) struct (D) break

VLT <0019 6l STOH 6 e erpsl Ul el Q&u_lg)urrl_Lq_gucnaT
Glamarenpulleh o aremd glyeqa;mm Qamﬂasa;rrl_l_ uumu@aﬂp@ ?

(A) emiys @iy (Function) (B) Qurr@err (Ob]ect)

©) eumiiur® (Formula) ‘r_ﬂma) (Status)

In StarOffice Calc which of the fo]lowmg bar is used to dlsplay the current cell and 1ts
contents ? )

(A) Function " '(B) Object
(C©) Formula (D) Status
Ct++a Lﬂmm@mmmm@m Grgj Loraf,]uq @461)61)51 LorrgS]asmmg, g,rrrsj@m LﬂGU)GUTQJ&SLJ
Quiliyenws @GPsHemng ? - |

(A) Bnssd Golser R (B)- é—]muuaﬂ G&wrpa;m

(€) wrialaer . (D) Lorr@asm

Which one of the following in C++ is memory box that hold values or constants ?

(A) punctuators o (B) keywords '

(C) constants : (D) variables



23.

24.

25.

. 26.

7 _ 6283

C++ Quruied oiglumLé hHnser Grmg)emgpu Lweru (s a@mrr&;a;u
LhHeper ?

(A) GHUGsdr (B) @usdser

©) eSdaasar . (D) Qeupsmpgser

Which ohe of the following is used to construct C++ basic statements 7
(A) Symbols ' o (B) Operators

© JTokens (D) Functions

CH++ & wmq@u.neb@eugj, Srorafliyg GewpGH eremg :
(A) :: B &7 © 2. D &

In C++ Wh1ch one of the followmg is called scope resolutlon operator ?

(A) :: (B) &7 ) ?: | (D) &

I_IL_&GV"I'_‘l;rE'..IBSdT‘ @b Ceusid aS‘]fr_r)rrmré;@ TESEMan .#_Lp@é@és@m GMDEUTS
alGEGIENY @aﬂé;a;rr;,tﬂ <L & QarLmd af@m ? '

(A) 40 ® 15 (O 20 | (D) 25

‘Reducing the frame count to less than how many frames per second causes the video
to look jerky ? ' .
(A) 40 ® 15 .. (Q 20 (D) 25

C++ & o8 y&Hwurd QUTEHERsEQsar @gEslu@D Hoausd LGSmu
APelsEd @, Csupamprgd

(a) &6 o B) <o

C) Bpse &8 T (D) " uewTyeTgE

In C++ which functlon removes the memory of an object which was a]located by the
constructor ?

(A) Pointer - _ (B) Destructor

© Cop'y Constructor - . (D) Modifier

[Q@DLKB/Tum over
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27.

. 28.

29.

30.

8

VLT poel96d GLiadléy Q@ GOLALL Yosdhe g,u'ma;emm erUGlLrpgIid.
Lwert Qar@ss elmwdermd Dearaumb erhsls ULigenwl: et his$s -
Gouamr@®id ? ‘ :

(A) Entry Required (B) Default Value (C) Length ~ (D) Format

In StarOffice Base Wh1ch optlon is used to spec1fy if the user should always enter a
value for that field ?---- T . A S S

(A) Entry Required (B) “,De_fault Value (C) Length (D) Format

Ct+ Qumflufld risaman cUamsWITET L SGES6T 2 dTaTer ?

(A) preng B) epemm . - (O Qrav® (D) b
How many kinds of loops are there in C++ ? B

(A) four (B) three (© two . (D) five

CH++ Gomfluliler erggaman cuaaswLITan Cﬁauﬂuq @ et o direman ?

A e B @rw®  (© wam  (©) pré
How many storage Spemflers are there 1n L CHt? o T
(A) One (B) Two (C) Three (D) Four

DBMS eramugen olflainésn : |
(A).;; Data Base:Management System (B) Data Base Memory System .. . ...

(€) #Data: Basé éMemory_:'Storage‘. (D) . Device Based Mémory:Storage .. . .-

‘ Expansmn of DBMS

31.

(A)° ‘Data Base Management System (B) Data BaseMemory System S

ST

(C) Data Base Memory Storage (D) Device Based’Memory Storage

C++ @ @CSII glyafﬂmg,mgac @&rrpg LDrrgS]a;aﬂszr g‘,1|7|_® Grmugj

(A) Ceweemn  (B) Quisdsar © &6 (D) amﬂ
In C++ a collection of yanables of the same type is : ‘
(A) Function (B) kOperators : (C) Pointer - (D) ‘Array |



32.

133

34.

35.

36.

9

Papssow Wi4&s absl LUTEETOM WSS Gouanr(HiLd?

(A) Ctrl (B) Alt (C) Delete (D) Esc
Which key is used to end the presentation ? '

(A) Ctl (B) Alt (C) Delete - (D) Esc

CH+ @ eTaTeuans QEOmHOLD (PSS (LP(HES Grémg EMTHSS ?

(A) Qummer B) safiLQuTd

(C) sewhliLimesr (D) HroQuwng
Integral data promotion in C++ is purely what oriented ? ‘
(A) Object (B) Computer

(C) Calculator - (D) Compiler

GOLTi Spofay srodd Gameumd ahs Qusd 2 @rUUGESmen Qs
Qearsst LweaTLGSDS ?

(A) B & S ©t . D $
Which of the followmg operator is used to combine sections of text in StarOffice Calc ?
(A) (B) & < ! -+ (D) $

@arnéd CupulL <l elmearsaled®hsl 5765 e @erm G&rra;@m
Qewpur® :

(A) - auflensumssn (B) agsiie (O GsLd (D) Gotip

Which one of following is a process to join the data from more than different tables in

a Database ?

(A) Sorting (B) Filter © ‘S»l_ear‘ching (D) Mgrging

QLTI @cb”l_‘ﬂm) em;n__l_rﬂa) @@ %mmggﬂw 2 eier mrﬂuﬁ\afr Gg,rn_asasgsﬁgpg
Qeerer LweTLHD Fred : | .
(A) Alt+Home  (B) Shift+Home (C) Ctl+Home (D) Home

Which key is used to move the insertion point to the beglmung of the line in StarOfflce :
Writer document ?

(A) Alt+ Home (B) Shift + Home (C) Ctil + Home (D) Home

[ HpLiys/Turn over
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37.

38.

10

VLT Bpoatdleiv &mebd o 6iem Page Style 2 anpuimLed QUL igufled erbg Csiray
Quigeow Halls Qeugre SILLGUMETS  STeT &L L k& EhL 6l
SIFSL_LU@D ?

(A) Sheet - (B) Pagé (©) Grid (D) Format

In StarOffice Calc, in Page Style D1alog Box wh1ch Check box should be clicked to print
a Worksheet with- gndlmes ?

(A) Sheet (B) Page (©) Grid (D) Format

C++ & @if GQlams@pedler sremmim uu_larrurn_(b\a;@ auHLLGLITE), ﬂm@u@m THS

- Slpliyé Gewpanm QuasiuGdng ?

39.

40.

(4) aflpenp (B)  eTpEser
© <o (D) &4

Which of the following function gets executed when an instance of a class comes into
scope ?

A) Method B) Arguments
g

(C) Destructor (D) Constructor

B0 AuTmeTCrTéEE Hrorss Qumfuder sbdeumips Lam &y :

A) Qassw  (B) s@EHud () &S (D) wryfio

Which of the following is the most powerful feature of an Objected Oriented
Programming language ?

(A) Class (B) Abstract ~ (C) Constructor (D) Inheritance

LT oollad arlLfed ALl (s Cararmb QpOLUL@LEES
eramenGleuenm QUi :

(A) &g () @u‘_lésaﬁl‘ (C) QemEwb @Lid ( D) leng

In StarOffice Wnter, the flashing vert1ca1 bar is called :

(A) Pointer (B) Operators (C) Insertion Point (D) Key



41.

42,

43.

44.

45.

11 | 6283
VLTI <f,00L9 6D GU)IJ'I_l_lT c%memg,g]m QarLrhlene gib, CSum) LD[DQJLD
EPUTESS LD THFEE SIBGOD QHESGD ?
(A) 1.25 (B) 0.5 O © 1 (D) 15

The default top and bottom margins are in how many inches in StarOffice Writer. |

(A) 1.25 (B) 05 . - ©) 1 . (D) 15

C++ & A aper@enms s é.dT@T_@gS]Uﬁ@ :
(A) ~ (B) @ © ! (D) #
In C++ which one of the following is used as prefix to destructor ?

A ~ B @ ) ! D) # .

CHt & eThg Clewpsmm (possTsms QosEE sTddle LduBEEn ?

(A) Stringcopy()  (B) Strepy() (©) Stremp() - (D) Strcopy() =
Which of the following function copies Source String to Target String ? :
(A) Stringcopy()  (B) Strcpy() (© Stremp() ©) Strcopy() )

CGurdlwrer  euer@umer, QuerQuT@heTEHmer | 2 (heuTd @6 gD
LWTLHSSIeUGID eTelelmn). eSS IubhEng ? - RPRTE R TR s

(A) pésfre (B) penGemd

Q) &lﬂmmuﬂlmm‘r_ﬁa;evrrésasm ‘ (D) <SiFewr- :D__em_gg,co T e
Making and using duplicate hardware and software is called ST

(A) Viruss . . B (B)  Ethics ‘

(C) Piracy (D) Crac king

inta [2] [4] ; eram @qmﬂuﬁlm 2 mUCLeTenfldma .
A 4 > ® 6 . (© 8 D) 12

The number of an element in the array int a [2] [4];

@A) 4 - . (B 6" - © 8 o (D) 12

[ HpLiygs/Turn over
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46.

47.

48,

12

Real Audio / Real Video 6rfh <4airiq 6 2. qpalamIO&ELILILL & ?

(A) 1981 (B) 1995 © 1982 (D) 1994
In which year, Real Audio/Real Video format was developed ? -
(A) 1981 (B 1995 . () 1982 (D) 1994

Cr+ & a1 ApLig Qewpmpenp LEMBGESILL aLs ?

(&) &8 (B) < flud ©) Gswupeh (D) CQewpspy
In C++ which of the following is a special function that cannot be overloaded ? |
(A) Constructor (B) Destructor .= (C) Operator (D) Function

sl lypbumet @Gmgpuﬁléb @m safuQurd popaowuld Sdag

- Qevemrugsled Blenpalans erelaunm SimpsHGomd ?

49.

() penCland] B pEsfire

(€) QuenQummer (D) ST 2 LGS0
Which is the illegal access to the network or computer system ?
(A) Ethics = e - (B) . Virus

(C) Software I (D) Craei;ing;

oL é;l,o olﬁl@u ml;rl_l__rﬂeu 61'55 Qurrg,g,rremm a‘i]aﬂa; @eru_lgrreo R |_|§.]u_1 Qered ‘
aa;n;rr;f,luﬁ]m G&rra;a;uu@m ?

(A) Add (B) Replace

(C) Insert V ' S (D) Suggestlons

In StarOfflce Writer which button is used to add the word to the d1ctlonary ?
(A) Add ' : " (B) Replace

50.

(©) Insert - - 0 0 tey(D)T Suggestionst o

CBT eratuigen eflflourgsid :

(A) Common Business Tool . -.. . (B) . Calculator Based Tools‘ y

(C) Computer Based Tutorials (D) Computer Based Tools
Expansion of CBT : o S | . >
(A) Common Business Tool =~ (B) Calculator Based Tools

_(©) Computer Based Tutorials (D) Computer Based Tools



51.

52,

53.

54.

55. .
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GOLITT Do olTe) STevdled lﬁ]ecrra.l@m THSE GDIenWS QEr@LILSET peLD @@
guemememmeou_l saflss Hlawmanenp (pEUTWTE LTHDH (PiGUWDd ?
B # B) & ©s$ O %

Which of the following sign is used to make the cell address absolute in StarOffice -
Calc ?

(A) # ® & © $ | ‘(D) %

‘C++ & @m&@@aﬁlm sb_guuuasemm ThHS Q&\ug)@g‘)] LPEID DAGMS (PIGULD 2

(&) yerefl () | | (B) <oevruiLaTe ()

(©)  smpyeirer () (D) csoammumﬂ ()

In C++ which of the followmg operator is used. to access the members of a class ?
(A) dot (.) . {(B) Semicolon (;) .
(C) Commay,) - . (D) Colon()

C++ & @ans@peiler &Lmu@g‘) b5 DL LILs Glsarme g;u_a;a;uug)m?
» 0 ® {3 © 0 (D) <>

In C++ Wthh one of the followmg braces is used to enclose the body of a class ?

w0 0 ®0 o0 o<

i
f

Ct+ @ aThg GEwhaam G@Ja;mrra; GI&u_lsuu@Lo <L NS\ ;_F,]ememmes @L_g)eﬁ)g
THEHE Qa;rrerr@m ?

;;‘

(A) cinline (B)mlme (C) outline "'"”('D) Couﬂme

 In C++ which function execute, faster but requlre more memory space ? - . .

(A) cinline

) (B) inline (©) outline (D) coutline

CH+ @Lorr@uﬁ]eu lﬁlmm@mmmmgym CTIhSS ahmgu (1 Slenarmis xﬁ\rﬂuuas FHOTGW ?

(A) switch ~ ° (B)" i " (C) while =~ (D) do. Whlle
Which one of the followmg is the mulhple branching statement in C++ ?
(A) switch ', (B) if o (C) while (D) do..while

[ &/ Turn over
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56.

14

207 @@ < Leumamamwus QaETERT(H @ESILL L SFe SSerD ;

(8) 2 pajfiera ®) @pops Gariy
©) QurmeTCHIrsE (D) ugflene
Which of the following database consists of single data table ?_

. (A) -Relational - | 4 - = (B) Flat - File - '
(C) Object Oriented (D) Hierarchical

57.

C++ o 2 miy QEFUJ!DG%IQJ gpd THS Clawmafenws LlGo’b‘ﬂUS]@&;@LD@LJWQJ.-‘
RCrewmm Qeuefien Qewgimen wHCw ghEw ?
(A) . - (B) @b - (C) @@L (D) Q&ujg')éhg

In C++ which of the following operator when overloaded through a member functlon
take one explicit argument ? Lo

~(A) Unary . (B) Ternary (©) Binary (D) Function

58.

59.

eeuBLd 6Ths Gamaniismers Csiray CFug), Slogieal @DES WPlyud ?
(A)‘ Tools — Show/Hide Show (B) Tools — Hide Show : /

(C) Format — Hide Slide (D) Slide Show — Show/Hide Slide
Which command is used to hide a slide ?\ o |

(A) Tools — Show/Hide Show . (B) T ools ——> Hide Shovrr

(C) Format — Hide Slide ' (D) Slide Show — Show/ Hide Shde

a=>5; c=att; e G‘Ia:u_la)rra;&.g,glsu c- am@m Lorr@u_cﬂa) @@gguu@m Logf,]uq
ereaTE ?

(A) 5 ® 6 © 0 - (D) 10
What value is stored in the v—ariahle c, if a=5; c=at+;

(a) 5 ® 6 (© 0 (D) 10 ..



60.

61.

62.

63.
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GeraumeuanaunpieT ergl GQuea@AUTmET AEEHUTL 4 oa1E Gon&ADS ?

(A) LIGO@YI(1H 6L T LD (B) wryfwwb
© Qurger (D) QamsEw
Which one of the following reducos‘software complexity ?
(A) Polymorphism (B) Inheritance

(C) Object (D) Class

C++ QuomQufes static Hrey 2 miiL] LrHI&E BlevareussSler erigeman B LDL@LD
Bosew ?
(A) @dam (B) * Qramn( ©) e (D) prenE

How many copy of the member variable is created for static data members in C++ ?

(A) One (B) Two (C) Three -~ (D) Four

C++ eramgnid GlUwieny @ L igwieuir ©

(A) Qraerafen M8 (B) vLmer 9f&eflenr

©) & Lorrciueﬂl."_Lq. ~ (D) Ggrer evGLemrevLFL)
The name C++ was coined by : | ; ,

(A) Dennis Ritchie (B) DanBricklin

(C) Rick Masciti (D) - Bjarne Stroustrup

C++ Glomflulied Q&u_lg)aal@m @ommlq.aﬂa) @g’ﬂulﬁll_uu@m o5 @a_l@jm @L_Lo
o awri &S EemrasCa @g‘)]ulﬁ];uu@é’lmmgj ?

(A) wrhser (B) .@G&rQJGbUMGm;D

© EPumssd - (D) erarane

Which of the following act as place holders in the function prototype inC++7?
(A) variables \ (B) typedef '
(©) - character (D) enumerator

[ $lapliys/ Turn over
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64.
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C++ G]Lorr@u‘ﬁléb gmelsaslulL QarsEpeilar QeuaThpeame 67 WGelssng

‘Hoid Hlred GHlpampuier woLwaTESESmS sTHunrsdpg ?

(A) 2epLururssd B) wryfon -

Q) uOIHETEHLD | (D) - Quimgmer

Which one of the following increases the functionality of a derived class and promotes

‘reusability of the base class ?

(A) Encapsulation . (B) Inheriténcfe ‘

(C) Polymorphism (D) Object

65.

66.

allgapl L ans@ES Cameuwrer QarLr Hlawamns CsmELiber L

(A) evenLed (B) aug@plL e | Q) erapsgieuens (D) umaﬂa;m
Which of the following is a named set of defaults for formatting text ? ’
(A) Style (B) .Formattmg (C) Font type (D) Points

D& SET eﬁuq_ev @@gf,guu}_@m @Gmmu_lg)g‘;]evr s eutidly Caaneusaner @jasiyu
LwerU(Heug -

(A) blew - spmed - - (B) L;S]G'Ur—asem_‘

©) Wer-eumd » (D) LIS]GOT é{l}'&ITGUOTGU)L[’)

Which permits banking from the comfort of the home by using Internet facilities ?
(A) e - Learning TR (B) e - Shopping

(C) ~e-Banking e (D) . e-Governance

67.

2® PeduLswss Aosd, eGorpfl Caulprep HipouLiors Lrogb
wpem : - : '
(A) 2 @wrODL (B) DI MEFCUTEHE

Q) LIRLWLTESED (D) 2 @BEGDVES

Which is the technique of distorting a single image to represent something else ?

'(A) Morphing , (B) ‘Animating

(C) Modeling . (D) Warping




68.

69.

70.

71.
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BHEGUD GTETLIG| -

- (A) Q&ug’)u@ggﬂuﬁﬂ_' LD&@%&&SG‘HG& an@uq -

(B) Qewpu®ssiiulL Frealsefler Qg,rr@uq

(€ Qewpu@ssliLl L. L eersafler Qg,rr@uq
(D). Qewpu@BSsLILILL Qusdlaafler Ggr@LL
Information is :

(A) Set of Processed Constant

(B) Set of Processed Data .

(C) Set of Processed Command

(D) Set of Processed Operator -

e udedldar Loksmer pow QL GeauaflsCarm® sTLGW Sy o

(A) St euemenr (B) Lilgeuld - © ‘oM (D) efemmeucd

Which of the following displays the fields of a record in a well - spaced out manner?

(A)" “Table -~ (B)y  Form Oy Report‘f (D) Quéry”" S

@Crourm Qasguoa Siglumiwurss Qsrar® g,@aﬁ]a;esuul_L

QandE@pmel 2 (Heur&EGeugl :

- (A) @@cﬂg@:mryqnﬂmm Lo (BY -,uw@@ OFLYAILDLD v

© uefleoe wryfion 7 (D) s@ly wryflo

When a derived class inherits only ffom ‘one base class it is known as :*

(A) Single Inheritance (B) Multiple Inheritance

(C)"- Multilevel Intieritance * " - (D) Hybrid Interitances 0 d

sre|d Sarsiled ¢ é{I_I_Q_IGU)GUbTUSIGOT @m@mn@ @Jrﬂmgu_uo GTQJ@JWQJ
S PESLILHID? R , y

(A) Gamiy v (B) yeow o (C) u&m - (D) gTey
In StarOffice Base, each row in a table represents : _ e
(A) File (B) Field: ~~ (C) Record (D) Data ©

[ 'é)\@l;lqa;/Tﬁrn over
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GOLTT oolblad enpiLfled 1Semeuhid s sLLmaT@wus Haflé Qeiigmed
gaiQaur usshGeNQID LSS amsar LEGSsULLE elEL?

(A) Format — Fields — Page Number'(B) View — Fields — Page Number

(C) Tools — Insert — Page Number (D) Insert — Fields — Page Number

- 73.

In StarOffice Writer which command is used to insert page fiumbers in each page ?
(A)  Format — Fields — Page Number (B) View — Fields — Page Number =~
(C) Tools — Insert — Page Number. (D) Insert — Fields — Page Number -

GOLITT ool flan CLafled TESSMET QUAISWITEN LIQEUESSET L GTeTar ?
(A) 10 (B 20 © 30 (D) 40

How many field types are there in StarOfﬁce Base ?

“(A) 10 - B 20 © 30 ) 4Q o

74.

75.

GULITT ool 9600 @m@um&w Media Player FEEI6 Qemlyemu_lgs &g)asa; &g,mm
SLLGNET : ,

(A) View — Media Player ' (B Format — Media Pleyer '
(C) Tools - Medla Player o (D) Insert - Medla Player

In StarOffice Impress which of the followmg command is used to open Medla Player
Window ? '

(A) View — Media Player (B) Format — Media Player
(Cy Tools — Media Player (D) Insert —» Media5 Player "

GVLITT ool A6 oL LT a&nngﬁuﬁ]w o drem QarhaafledmBbal @mgu@é\@‘rm
Qempaer arps By CpafiGar® Caram(® aq&@anq;uu@m ? ¥ o
) Beown (B) ubms (O Aastiy (D) Qalrérener

Whrch coloured squiggly underline is used for the words that do not match with the
words in the dictionary in StarOfflce Writer ?

(A) Blue (B) Green © Red .;7.—. (D) White



76.
77.
78.
79.
80.
81
' 82.;

' 83.
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U@Q II/PART I
- gCsemid @@ug aﬁlaﬂrra;a;@a;@ LDI_®LD ' @lﬂ@ mrrrrg;mg,asaﬂeu
aﬁ]em_luaﬂa;asmm i : S 20x2=40

Answer any twenty questions in one or two_ sentences each.
2 @rluLSIa5se anpred ereter 2

What is text editing ? .

srafludis, Gr@g,g,juxﬂsmp GergeneL umﬂa;@g‘)] Grafrg)rrev erauan ?

What is meant by autospell check i icon ?

@@ gjmsmmmuﬂ@]mm g;lysmm Lorrgpp) Q,otq_u_u.orr ’> éypm G'I‘GDﬂGD ereueuT) ? -

Can we change the data present in a cell ? If so, how ?

AL po'olleiy &Tes Eiammantenpls Lmeneuud_eflen aumssmaTs Smis,

List the types of cell referencing in StarOffice Calc.

(PBETEDLD g‘,],rpm@a;rra) Grmg_r)rreu crman ? a@g,gjaasm_@ g;@as o
What is Prlmary Key ? Give example o
Ligutb Grempred eream? .
What is Form ?

e P T O TV SV A SR P
b R T LIS B o N S S T TR NN S [0l TR IR RS S

GUIESED GTATDIE 6TeHan 2. DS6H. cuengGaner eaufl.. i .~ . .. .
What is Compression ? Explain the types.
MIDI ulq_em.'o LD @GO eueys.
Write short note on MIDI format,

[ Liys/ Turn over
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84.

. 85.

86.

87.

88.

89.

90.

- 91,

20

BlspEs6060 6w eﬂeb@_[@m ereucumy Gerssemd womib Basamd 2. -

How to insert and delete slide in Presentation ?

Bopssdle sefliuudr dogissn Aow aaary Osrbsorb ?

How to start custom slide show in Presentation ?

QUITmET eUemTwIEnD.

Define object.

C++-& Bupsmend Qewun@m ubm @@Du'@mﬁa‘;l.ﬂ

Write note on conditional operator in C++.

oy S ’ FEE S LI TR

typedef (@amauemrienp) LDH TOSSIESTHLT 6T(HSIS.

Write about typedef with example. 7 T S PO P AR L Ty

CH+-a0 uaremrisSludlen aflenera s er wimeneu?

Write down the impact of modifiers in Ct+.

GO eueprs : Genaneoren if sapm (Nested if statement)

e ’ PRI
| AT O —
NS SRR NS

Write note on nested if statement.

CH+-6d rflsaflen aimrOL@maUldT umssmar er(gss.

What are the types of scope-of variables in C++?



92,

93.

94.

95,

96.

97.

98.

99.

100.

21 S 6283
strlen( ) upM THSHSSTLHLe Hm GO cueanys.

Write short note on strlen( ) with example. .

SafECaETaney erampmey eremme ?

What is Matrix ?

QMEG(H UMTWEND.

Define Class.

-‘@Lﬁluu QUGS : (1) sre] e muyser (2) emuyd QFwunmmser

Write note on (1) Data Members (2) Member functions

Qer'u_lrj)@gﬁl LAl @ LI erempTed eTees ?

What is meant b'y_ operator overloading ?

< SEller CewdLrser wrenes ?

What are the functions of constructor ?

wryfwgder cumasar wreme ?

List the types of inheritance.

\Sem-irerameno LHB GHILILY cuers.

Write note on e - Governance.

BESBITE eTammmed eTetmes ?

What is Virus ?

[ Hlapliys/Turn over
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L@E$ - I/ PART - III

@'Gg@lﬁ e lammssEnsE WO allaLweflsseb. ’ - 7x5=35

Answer any seven questions :

101. oL cv;bﬁlem enrLtiflev &muuﬁ]@umm @@_Q&rréb@et@u u@eur;aslﬁ]gﬁ@grr@
Qeréenall L@GSgID aulflpernser wWrene ?

Write the steps involved in search and replacing a given text in StarOffice Writer.

102. QUL Yooldled enrlifled i’ L auenant aulgapl L& SmHeSiul el ufler o erer
GnibuLkisefler Couamesar eremer ?

In StarOffice Writer what are the various functions of the icons in the table formatﬁng
toolbar ? ‘

+ 103. GOLTIT Yoolev HTevg-60 Cumper Cargger unm aleufl.

Explain how to insert objects in StarOffice Calc.

104. |l Laueentd CQFwedwimed aﬁ]smrru_ij BETENLOSET WTenel ?

List the advantages of using electronic spreadsheet.

105. Froysser euamsser Lpdl eleul.
Explain the types of databases.

106. C++-ab wL&GHMeT T(HSFIGSTL(HLer adleuifl.

Explain loops with suitable example in C++. -

-107. inline G&u_ug')ahgu GTGTDITED GTEITGH? ‘Gr@\ggjésa;m_’_@\l_m efaufl.
| Explain inline function with suitable example.
108. QFrwpann LmAGLIL eTamTad eTettan ? SiFen eNFPEDSMET Fag.

Define function overloading. List the rules of function overload_ing.
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109. Gasn@s;a;uul_l_ CQesefli® QumeusH S ﬁ]mm@m C++-ab Hlyelled 2 arar

Uenpsemer samhi9y 58 BéseyLb.
Debug the following C++ program to get the following output

output

___________

#include (iostream. h)
#include<conio. h>
class A
public;
intal,a2:a3;

Void getdata[] -
{

al=3; :
a2=3;a3=5;
oy
b

class B:: public A() Sl
; o
PUBLIC

~ void 'func()

int bl:b2:b3;

A::getdata[];

bl=ai;

b2=a2;

a3=a3;
cout<<bl<<\t'<<b2<<\t'<<b3; -

¥
void main()

clrscr();
B der;
deri:func();:
getch();

[ g_}‘,]@L'lué;/Tum over
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110. Gemeuqpid C++ Hlyedlen Qeusrﬂdﬁuq.emm CT(LPS)IS.
Find the output for the following C++ program.

#include<iostream.h>
#include<conio.h>
class sample
private:
- int a,b;
public:
sample()
{ .
a=b=0; , , -
cout< <"\nConstructor of class sample";
} .
~sample()
{ .
cout<<"\nDestructor of class sample";
y ' .
- void assign()

void display()
{

cout<<"\nThe two integers are "<<a<<'\t'<<b;
‘cout<<"\nThe sum of ihteders "<<a+b;
3

void main()

{
sample obj;
cout<<"\n Object";
obj.assign();
obj.display();
¥

-600-



